		BaseLine Item Detail	Union Paving & Co	onstruction Co., Inc.		& Son, Inc. & Joseph . A Joint Venture	Carbro Cons	structors Corp.	Mount Consti	ruction Co., Inc.	IEW Construc	ction Group Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1.00 L.S.	Construction Layout	\$175,000.00	\$175,000.00	\$175,000.00	\$175,000.00	\$107,800.00	\$107,800.00	\$250,000.00	\$250,000.00	\$78,015.06	\$78,015.06
2 104-0002	1.00 L.S.	Mobilization	\$475,000.00	\$475,000.00	\$325,000.00	\$325,000.00	\$630,000.00	\$630,000.00	\$1,380,000.00	\$1,380,000.00	\$720,000.00	\$720,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
4 108-0001	4,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00	\$4,000.00	•	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00	\$1.00	\$4,000.00
5 201-0001	15.00 Acre	Clearing and Grubbing	\$9,500.00	\$142,500.00	\$16,000.00	\$240,000.00	\$45,000.00	\$675,000.00	\$12,000.00	\$180,000.00	\$18,251.16	\$273,767.40
6 202-0002	11,335.00 C.Y.	Roadway Excavation, Earth	\$11.00	\$124,685.00		\$385,390.00	\$28.00	\$317,380.00	\$30.00	\$340,050.00	\$30.17	\$341,976.95
7 202-0007	6,550.00 C.Y.	Stripping Topsoil	\$6.75	\$44,212.50	•	\$203,050.00	\$40.00	\$262,000.00	\$23.00	\$150,650.00	\$46.03	\$301,496.50
8 202-0009	60,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$60,000.00		\$60,000.00	\$1.00	\$60,000.00	\$1.00	\$60,000.00	\$1.00	\$60,000.00
9 203-0001 10 206-0003	11,360.00 C.Y. 9,190.00 C.Y.	Embankment, Common Trench Excavation, Earth	\$9.00 \$0.01	\$102,240.00 \$91.90	•	\$363,520.00 \$9,190.00	\$29.00 \$0.50	\$329,440.00 \$4,595.00	\$15.00 \$12.00	\$170,400.00 \$110,280.00	\$38.48 \$20.00	\$437,132.80 \$183,800.00
11 207-0004	120.00 C.1.	RipRap Stone Aprons, 12in Thick(D50=6in)	\$180.00	\$21,600.00	•	\$22,800.00	\$150.00	\$18,000.00	\$225.00	\$27,000.00	\$229.90	\$27,588.00
12 207-0005	210.00 Ton	Riprap Stone Aprons, 24in Thick (D50=12in)	\$75.00	\$15,750.00		\$33,600.00	\$180.00	\$37,800.00	\$225.00	\$47,250.00	\$228.41	\$47,966.10
13 207-0010	75.00 Ton	Riprap Stone Aprons, 36 in Thick, (D50=18 in)	\$99.00	\$7,425.00		\$11,250.00	\$215.00	\$16,125.00	\$225.00	\$16,875.00	\$227.92	\$17,094.00
14 207-N0006	205.00 Ton	Riprap Stone Scour Hole, 12in Thick (D50-6in)	\$102.00	\$20,910.00		\$41,000.00	\$170.00	\$34,850.00	\$225.00	\$46,125.00	\$229.90	\$47,129.50
15 207-N0008	95 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$87.00	\$8,265.00		\$16,150.00	\$200.00	\$19,000.00	\$230.00	\$21,850.00	\$228.41	\$21,698.95
16 207-N0009	35.00 Ton	Riprap Stone Scour Holes, 36in Thick (D50=18in)	\$129.00	\$4,515.00		\$5,250.00	\$300.00	\$10,500.00	\$230.00	\$8,050.00	\$227.91	\$7,976.85
17 208-0006	85 C.Y.	Hay Bales	\$50.00	\$4,250.00		\$1,955.00	\$44.00	\$3,740.00	\$10.00	\$850.00	\$274.48	\$23,330.80
18 208-0007	20,155.00 L.F.	Silt Fence	\$7.25	\$146,123.75		\$120,930.00	\$10.00	\$201,550.00	\$7.00	\$141,085.00	\$8.60	\$173,333.00
19 208-0022	56.00 Each	Inlet Filter, Type 2	\$210.00	\$11,760.00	\$240.00	\$13,440.00	\$150.00	\$8,400.00	\$250.00	\$14,000.00	\$476.78	\$26,699.68
20 208-0024	3,850.00 Ton	Construction Driveway	\$65.00	\$250,250.00	\$93.00	\$358,050.00	\$100.00	\$385,000.00	\$105.00	\$404,250.00	\$72.13	\$277,700.50
21 208-N0001	1 Each	Concrete Washout Facility	\$15,000.00	\$15,000.00	\$640.00	\$640.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$6,352.01	\$6,352.01
22 208-N0002	6 Each	Sediment Control Bags	\$515.00	\$3,090.00	\$300.00	\$1,800.00	\$150.00	\$900.00	\$225.00	\$1,350.00	\$794.77	\$4,768.62
23 211-0001	8,285.00 L.F.	Temporary Orange Plastic Fence	\$4.80	\$39,768.00	\$6.00	\$49,710.00	\$10.00	\$82,850.00	\$8.00	\$66,280.00	\$8.64	\$71,582.40
24 213-0002	16,145.00 Ton	Disposal of Regulated Material	\$7.00	\$113,015.00	\$1.00	\$16,145.00	\$48.00	\$774,960.00	\$45.00	\$726,525.00	\$46.30	\$747,513.50
25 303-0001	235.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$56.00	\$13,160.00	\$120.00	\$28,200.00	\$60.00	\$14,100.00	\$35.00	\$8,225.00	\$177.50	\$41,712.50
26 401-0066	4,220.00 LB	Reinforcement Steel	\$2.75	\$11,605.00		\$12,660.00	\$2.00	\$8,440.00	\$2.50	\$10,550.00	\$2.69	\$11,351.80
27 501-0001	750 L.F.	8-Inch Pipe Underdrain	\$38.00	\$28,500.00	•	\$40,500.00	\$70.00	\$52,500.00	\$45.00	\$33,750.00	\$53.00	\$39,750.00
28 502-0004	600 L.F.	18 Inch HDPE Pipe	\$68.00	\$40,800.00		\$66,600.00	\$95.00	\$57,000.00	\$100.00	\$60,000.00	\$181.00	\$108,600.00
29 502-0005	1,865.00 L.F.	15 in Reinforced Concrete Pipe, Class III	\$120.00	\$223,800.00		\$246,180.00	\$125.00	\$233,125.00	\$125.00	\$233,125.00	\$167.00	\$311,455.00
30 502-0006	905 L.F.	18 in Reinforced Concrete Pipe, Class III	\$120.00	\$108,600.00		\$149,325.00	\$130.00	\$117,650.00	\$140.00	\$126,700.00	\$229.00	\$207,245.00
31 502-0009	1,215.00 L.F.	15 Inch HDPE Pipe	\$71.00	\$86,265.00		\$176,175.00	\$90.00	\$109,350.00	\$95.00	\$115,425.00	\$149.00	\$181,035.00
32 502-0010	475.00 L.F.	24 in Reinforced Concrete Pipe, Class III 36 in Reinforced Concrete Pipe, Class III	\$210.00	\$99,750.00	· ·	\$128,250.00	\$131.00	\$62,225.00	\$215.00	\$102,125.00	\$305.00	\$144,875.00
33 502-0012 34 502-0013	225 L.F. 15 L.F.	48 in Reinforced Concrete Pipe, Class III	\$142.00 \$280.00	\$31,950.00 \$4,200.00		\$58,500.00 \$6,600.00	\$184.00 \$240.00	\$41,400.00 \$3,600.00	\$165.00 \$465.00	\$37,125.00 \$6,975.00	\$342.00 \$945.00	\$76,950.00 \$14,175.00
35 502-0018	5 Each	15 Inch HDPE Flared End Section	\$2,500.00	\$12,500.00		\$6,500.00	\$1,000.00	\$5,000.00	\$2,500.00	\$12,500.00	\$2,500.00	\$12,500.00
36 502-0016	380.00 L.F.	24 Inch HDPE Pipe	\$93.00	\$35,340.00		\$60,800.00	\$110.00	\$41,800.00	\$110.00	\$41,800.00	\$187.00	\$71,060.00
37 502-0027	555.00 L.F.	30 Inch HDPE Pipe	\$103.00	\$57,165.00		\$105,450.00	\$123.00	\$68,265.00	\$140.00	\$77,700.00	\$264.00	\$146,520.00
38 502-0028	360 L.F.	42 In Reinforced Concrete Pipe, Class III	\$185.00	\$66,600.00	\$560.00	\$201,600.00	\$156.00	\$56,160.00	\$235.00	\$84,600.00	\$412.00	\$148,320.00
39 502-0033	180 L.F.	60 Inch HDPE Pipe	\$310.00	\$55,800.00		\$187,200.00	\$350.00	\$63,000.00	\$375.00	\$67,500.00	\$580.00	\$104,400.00
40 502-0034	280.00 L.F.	48 Inch HDPE Pipe	\$168.00	\$47,040.00		\$75,600.00	\$200.00	\$56,000.00	\$250.00	\$70,000.00	\$375.00	\$105,000.00
41 502-0035	225.00 L.F.	42 Inch HDPE Pipe	\$155.00	\$34,875.00	\$230.00	\$51,750.00	\$450.00	\$101,250.00	\$155.00	\$34,875.00	\$235.00	\$52,875.00
42 502-0036	85.00 L.F.	54 in Reinforced Concrete Pipe, Class III	\$245.00	\$20,825.00	\$390.00	\$33,150.00	\$280.00	\$23,800.00	\$370.00	\$31,450.00	\$576.00	\$48,960.00
43 502-0037	45.00 L.F.	12 in Reinforced Concrete Pipe, Class III	\$600.00	\$27,000.00	\$210.00	\$9,450.00	\$110.00	\$4,950.00	\$105.00	\$4,725.00	\$633.00	\$28,485.00
44 502-0038	190.00 L.F.	36 Inch HDPE Pipe	\$121.00	\$22,990.00	\$170.00	\$32,300.00	\$260.00	\$49,400.00	\$150.00	\$28,500.00	\$214.00	\$40,660.00
45 502-N0007	325.00 C.Y.	Fill Abandoned Pipe	\$300.00	\$97,500.00	\$350.00	\$113,750.00	\$300.00	\$97,500.00	\$315.00	\$102,375.00	\$442.19	\$143,711.75
46 502-N0010	950 L.F.	24 Inch Cured In Place Pipe Liner	\$238.00	\$226,100.00		\$275,500.00	\$250.00	\$237,500.00	\$200.00	\$190,000.00	\$237.46	\$225,587.00
47 502-N0011	575 L.F.	30 Inch Cured In Place Pipe Liner	\$250.00	\$143,750.00	· ·	\$189,750.00	\$275.00	\$158,125.00	\$235.00	\$135,125.00	\$296.82	\$170,671.50
48 502-N0013	105 L.F.	18 Inch Cured In Place Pipe Liner	\$255.00	\$26,775.00		\$32,550.00	\$225.00	\$23,625.00	\$235.00	\$24,675.00	\$207.78	\$21,816.90
49 502-N0014	160 L.F.	21 Inch Cured In Place Pipe Liner	\$230.00	\$36,800.00	· ·	\$44,800.00	\$235.00	\$37,600.00	\$225.00	\$36,000.00	\$213.71	\$34,193.60
50 502-N0015	370 L.F.	36 Inch Cured in Place Pipe Liner	\$300.00	\$111,000.00	· ·	\$148,000.00	\$297.00	\$109,890.00	\$350.00	\$129,500.00	\$326.51	\$120,808.70
51 502-N0016	280.00 L.F.	30 Inch CCFRPM Slipliner	\$500.00	\$140,000.00		\$145,600.00	\$550.00	\$154,000.00	\$800.00	\$224,000.00	\$653.96	\$183,108.80
52 502-N0017 53 502-N0018	380 L.F.	36 inch CCFRPM Slipliner	\$560.00	\$212,800.00 \$129,250.00		\$224,200.00	\$650.00	\$247,000.00	\$800.00	\$304,000.00 \$217,375.00	\$751.18 \$727.01	\$285,448.40 \$170.847.35
53 502-N0018 54 502-N0019	235 L.F. 305 L.F.	39 Inch CCFRPM Slipliner 40 Inch CCFRPM Slipliner	\$550.00 \$625.00	\$129,250.00 \$190,625.00		\$155,100.00 \$198,250.00	\$700.00 \$710.00	\$164,500.00	\$925.00 \$940.00	\$217,375.00	\$727.01 \$590.51	\$170,847.35 \$180,105.55
55 502-N0022	220 L.F.	42 Inch CCFRPM Slipliner	\$625.00	\$190,625.00		\$198,250.00	\$710.00	\$216,550.00 \$165,000.00	\$975.00	\$286,700.00	\$590.51	\$180,105.55 \$138,054.40
56 502-N0029	690 L.F.	42 Inch X 29 Inch CCFRPM Slipliner	\$1,000.00	\$690,000.00		\$931,500.00	\$1,300.00	\$897,000.00	\$1,650.00	\$1,138,500.00	\$1,181.42	\$138,034.40
57 503-0003	13 Each	·	\$1,000.00	\$130,000.00		\$89,700.00	\$7,500.00	\$97,500.00	\$8,200.00	\$1,138,300.00	\$7,030.44	\$91,395.72
58 503-0005		Reconstructed Inlet, Type D2, Using Existing Grate and Frame	\$1,500.00	\$43,500.00		\$84,100.00	\$2,500.00	\$72,500.00	\$1,900.00	\$55,100.00	\$4,458.51	\$129,296.79
59 503-0006		Manhole, Type P-2	\$15,000.00	\$60,000.00	\$10,700.00	\$42,800.00	\$15,000.00	\$60,000.00	\$15,000.00	\$60,000.00	\$15,379.77	\$61,519.08
		7 III -	+ 25,555.00	+,000.00	,, 00.00	+ :=,555.56	,,,,,,,,,	+ , 5 - 5 - 5	,, 500.00	+,300.00	, ==,=,	,, - 20.00

BaseLine Item Detail		Union Paving & Co	onstruction Co., Inc.	J. Fletcher Creamer & Son, Inc. & Joseph M. Sanzari, Inc. A Joint Venture		Carbro Constructors Corp.		Mount Construction Co., Inc.		IEW Construction Group Inc.		
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
60 503-0023	5 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$1,700.00	\$8,500.00	\$2,900.00	\$14,500.00	\$3,000.00	\$15,000.00	\$3,000.00	\$15,000.00	\$4,458.52	\$22,292.60
61 503-0032	4 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$1,450.00	\$5,800.00	\$2,100.00	\$8,400.00	\$2,000.00	\$8,000.00	\$3,000.00	\$12,000.00	\$4,458.52	\$17,834.08
62 503-0037	1 Each	Inlet, Type D2 Modified	\$15,000.00	\$15,000.00	\$9,300.00	\$9,300.00	\$12,500.00	\$12,500.00	\$50,000.00	\$50,000.00	\$6,149.92	\$6,149.92
63 503-0038	2 Each	Reconstruction Manhole, Type P-2, Using Existing Cover and Frame	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00	\$4,458.52	\$8,917.04
64 503-0039	1 Each	Inlet, Type D2 SP-1	\$45,000.00	\$45,000.00	\$36,800.00	\$36,800.00	\$59,000.00	\$59,000.00	\$100,000.00	\$100,000.00	\$56,327.45	\$56,327.45
65 503-0040	1.00 Each	Inlet, Type D2 SP-2	\$45,000.00	\$45,000.00	\$37,200.00	\$37,200.00	\$57,000.00	\$57,000.00	\$100,000.00	\$100,000.00	\$45,934.82	\$45,934.82
66 503-0041	1.00 Each	Manhole, Type P2 SP-1	\$35,000.00	\$35,000.00	\$29,500.00	\$29,500.00	\$33,000.00	\$33,000.00	\$75,000.00	\$75,000.00	\$50,571.22	\$50,571.22
67 504-0001	15 S.Y.	Concrete Gutter, 10 Inches Thick	\$650.00	\$9,750.00	\$320.00	\$4,800.00	\$378.22	\$5,673.30	\$325.00	\$4,875.00	\$1,353.36	\$20,300.40
68 504-0011	100.00 C.Y.	Incidental Concrete	\$575.00	\$57,500.00	\$2,100.00	\$210,000.00	\$750.00	\$75,000.00	\$1,000.00	\$100,000.00	\$1,752.25	\$175,225.00
69 505-0001	1,110.00 L.F.	Asphalt Concrete Lip Curb	\$9.80	\$10,878.00	\$10.00	\$11,100.00	\$19.00	\$21,090.00	\$35.00	\$38,850.00	\$14.84	\$16,472.40
70 510-0010	42 Each	Beam Guide Rail Blockout	\$9.00	\$378.00	\$6.00	\$252.00	\$12.00	\$504.00	\$1.00	\$42.00	\$9.50	\$399.00
71 510-0031	589 L.F.	Removal of Beam Guide Rail	\$8.25	\$4,859.25	\$5.00	\$2,945.00	\$7.50	\$4,417.50	\$1.00	\$589.00	\$5.94	\$3,498.66
72 510-N0080	250 L.F.	Beam Guide Rail, Pre-Stained	\$130.00	\$32,500.00	\$93.00	\$23,250.00	\$180.00	\$45,000.00	\$95.00	\$23,750.00	\$142.48	\$35,620.00
73 510-N0082	3.00 Each	Beam Guide Rail Anchorage, Pre-Stained	\$3,500.00	\$10,500.00	\$2,500.00	\$7,500.00	\$4,800.00	\$14,400.00	\$4,500.00	\$13,500.00	\$3,799.33	\$11,397.99
74 510-N0087	42.00 Each	Beam Guide Rail Post, Pre-stained	\$250.00	\$10,500.00	\$180.00	\$7,560.00	\$350.00	\$14,700.00	\$1.00	\$42.00	\$270.70	\$11,369.40
75 510-N0088	3.00 Each	Tangent Guide Rail Terminal, Pre-Stained	\$6,500.00	\$19,500.00	\$4,700.00	\$14,100.00	\$9,000.00	\$27,000.00	\$8,500.00	\$25,500.00	\$7,064.39	\$21,193.17
76 510-N0089	175.00 L.F.	Beam Guide Rail Element, Pre-Stained	\$61.00	\$10,675.00	\$72.00	\$12,600.00	\$83.00	\$14,525.00	\$1.00	\$175.00	\$65.30	\$11,427.50
77 510-N0091	15 Each	Beam Guide Rail Post, 9ft Long, Pre-Stained	\$248.00	\$3,720.00	\$180.00	\$2,700.00	\$340.00	\$5,100.00	\$500.00	\$7,500.00	\$267.14	\$4,007.10
78 517-0002	1 L.S.	Furnish Field Office, Type B	\$10,000.00	\$10,000.00	\$39,400.00	\$39,400.00	\$127,620.00	\$127,620.00	\$75,000.00	\$75,000.00	\$32,857.18	\$32,857.18
79 517-0008	12.00 Mnth	Maintain Field Office, Type B	\$3,800.00	\$45,600.00	\$3,800.00	\$45,600.00	\$1,500.00	\$18,000.00	\$3,500.00	\$42,000.00	\$5,113.37	\$61,360.44
80 517-0013	30,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
81 522-0001	40 Each	Test Pits	\$450.00	\$18,000.00	\$540.00	\$21,600.00	\$100.00	\$4,000.00	\$1,000.00	\$40,000.00	\$2,732.62	\$109,304.80
82 523-0021	460 L.F.	Clean Existing Ditch	\$17.00	\$7,820.00	\$98.00	\$45,080.00	\$20.00	\$9,200.00	\$22.00	\$10,120.00	\$43.23	\$19,885.80
83 531-0001	15,000.00 USD	Force Account for Snow Removal (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
84 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00
85 534-0004	205 L.F.	54 Inch Trenchless Installation	\$2,700.00	\$553,500.00	\$2,800.00	\$574,000.00	\$4,250.00	\$871,250.00	\$2,500.00	\$512,500.00	\$3,158.00	\$647,390.00
86 534-0005	190 L.F.	48 Inch Trenchless Installation	\$2,600.00	\$494,000.00	\$2,700.00	\$513,000.00	\$4,400.00	\$836,000.00	\$2,700.00	\$513,000.00	\$3,156.00	\$599,640.00
87 599-N0155	115.00 C.Y.	Gabion Wall	\$380.00	\$43,700.00	\$390.00	\$44,850.00	\$150.00	\$17,250.00	\$600.00	\$69,000.00	\$478.67	\$55,047.05
88 703-0001	46,510.00 S.Y.	Topsoil	\$1.00	\$46,510.00	\$4.00	\$186,040.00	\$5.00	\$232,550.00	\$3.25	\$151,157.50	\$3.71	\$172,552.10
89 704-0001	35,220.00 S.Y.	Seeding, Type A	\$1.70	\$59,874.00	\$1.30	\$45,786.00	\$1.75	\$61,635.00	\$1.50	\$52,830.00	\$1.85	\$65,157.00
90 704-0002	2,220.00 S.Y.	Seeding, Type B	\$1.70	\$3,774.00	\$1.30		\$1.75	\$3,885.00	\$1.50	\$3,330.00	\$1.85	\$4,107.00
91 704-0004	9,070.00 S.Y.	Seeding, Type L	\$2.00	\$18,140.00	\$2.50		\$2.00	\$18,140.00	\$2.00	\$18,140.00	\$2.16	\$19,591.20
92 705-0006	36 Each	Planting, Allegheny Serviceberry (Amelanchier Laevis)	\$580.00	\$20,880.00	\$500.00	\$18,000.00	\$575.00	\$20,700.00	\$500.00	\$18,000.00	\$617.90	\$22,244.40
93 705-0007	737 Each	Planting, Red Maple (Acer Rubrum)	\$67.00	\$49,379.00	· · · · · · · · · · · · · · · · · · ·	\$44,220.00	\$67.00	\$49,379.00	\$60.00	\$44,220.00	\$71.99	\$53,056.63
94 705-0008	22 Each	Planting, Sweetgum (Liquidambar Styraciflua)	\$640.00	\$14,080.00	\$515.00	\$11,330.00	\$620.00	\$13,640.00	\$550.00	\$12,100.00	\$679.69	\$14,953.18
95 705-0009	2,279.00 Each	Planting, Tulip Tree (Liriodendron Tulipifera)	\$40.00	\$91,160.00	\$42.00	\$95,718.00	\$40.00	\$91,160.00	\$40.00	\$91,160.00	\$43.25	\$98,566.75
96 705-0010	19 Each	Planting, Black Cherry (Prunus Serotina)	\$635.00	\$12,065.00	\$565.00	\$10,735.00	\$630.00	\$11,970.00	\$600.00	\$11,400.00	\$679.69	\$12,914.11
97 705-0022	1,200.00 Each		\$33.50	\$40,200.00	•		\$33.00	\$39,600.00	\$30.00	\$36,000.00	\$36.02	\$43,224.00
98 705-0023	1,200.00 Each	Planting, Chestnut Oak (Quercus Montana)	\$29.00	\$34,800.00	\$31.00	\$37,200.00	\$29.00	\$34,800.00	\$25.00	\$30,000.00	\$30.90	\$37,080.00
99 705-0024	600 Each	Planting, White oak (Quercus Alba)	\$29.00	\$17,400.00	=	\$18,000.00	\$29.00	\$17,400.00	\$25.00	\$15,000.00	\$30.90	\$18,540.00
100 705-0025	500 Each	Planting, Blackgum (Nyssa Sylvatica)	\$32.00	\$16,000.00		\$15,500.00	\$33.00	\$16,500.00	\$30.00	\$15,000.00	\$34.60	\$17,300.00
101 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$50,000.00	\$50,000.00	\$105,000.00	\$105,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$3,707.42	\$3,707.42
102 706-0001	9,070.00 S.Y.	Permanent Soil Stabilization Matting	\$5.25	\$47,617.50	\$5.00	\$45,350.00	\$9.00	\$81,630.00	\$4.00	\$36,280.00	\$5.56	\$50,429.20
103 706-0001	4,785.00 S.Y.	Temporary Soil Stabilization Matting	\$4.00	\$19,140.00	\$1.50		\$7.00	\$33,495.00	\$22.00	\$105,270.00	\$4.33	\$20,719.05
104 801-0001	4,785.00 3.1. 1 L.S.	Furnishing Traffic Control Devices	\$1,140,000.00	\$1,140,000.00	•	\$1,008,100.00	\$747,500.00	\$747,500.00	\$1,756,130.50	\$1,756,130.50	\$2,414,000.00	\$2,414,000.00
105 801-0007	4,200.00 M.H.	Traffic Protection Patrol, Part-Time	\$1,140,000.00	\$42.00		\$42,000.00		\$42.00	\$1,730,130.30	\$420,000.00	\$55.23	
106 801-0009		Furnishing Portable Variable Message Sign	\$7,500.00	\$22,500.00	\$10.00 \$4,500.00		\$0.01 \$6,000.00	\$18,000.00	\$15,000.00	\$45,000.00	\$12,843.69	\$231,966.00 \$38,531.07
	3 Each					\$13,500.00						
107 801-0013	6 Each	Furnishing Truck with Mounted Attenuator	\$14,500.00	\$87,000.00	\$500.00	\$3,000.00	\$1,000.00	\$6,000.00	\$25,000.00	\$150,000.00	\$3,176.01	\$19,056.06
108 801-0014	120 M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$0.01	\$1.20		\$20,400.00	\$50.00	\$6,000.00	\$150.00	\$18,000.00	\$122.33	\$14,679.60
109 801-0015	4 Each	Repair Truck Mounted Impact Attenuators	\$3,000.00	\$12,000.00	\$100.00	\$400.00	\$250.00	\$1,000.00	\$500.00	\$2,000.00	\$1.00	\$4.00
110 801-0020	4 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$1,000.00	\$4,000.00	\$1,800.00	\$7,200.00	\$250.00	\$1,000.00	\$500.00	\$2,000.00	\$6,635.71	\$26,542.84
111 801-0023	2 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$27,000.00	\$54,000.00	\$3,900.00	\$7,800.00	\$250.00	\$500.00	\$1,000.00	\$2,000.00	\$9,599.43	\$19,198.86
112 803-0032	25,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
113 803-N0001	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$100,000.00	\$100,000.00	\$57,700.00		\$120,050.00	\$120,050.00	\$100,000.00	\$100,000.00	\$55,000.00	\$55,000.00
				\$9,154,559.10)	\$10,981,414.50	1	\$12,328,500.80		\$14,023,431.00		\$14,521,140.75

		BaseLine Item Detail		Inc. & B. Anthony orp., A Joint Venture	Montana Const	ruction Corp Inc.	JR Cruz Corp.		Roman E&G Corp.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
1 104-0001	1.00 L.S.	Construction Layout	\$210,000.00	\$210,000.00	\$85,000.00	\$85,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
2 104-0002	1.00 L.S.	Mobilization	\$805,000.00		\$800,000.00	\$800,000.00	\$830,941.20	\$830,941.20	\$800,000.00	\$800,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$50,000.00	\$50,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
4 108-0001	4,000.00 USD	Fuel Price Adjustment (No-Bid)	\$1.00		•	\$4,000.00	\$1.00	\$4,000.00	\$1.00	
5 201-0001	15.00 Acre	Clearing and Grubbing	\$20,000.00		\$30,000.00	\$450,000.00	\$30,000.00	\$450,000.00	\$50,000.00	\$750,000.00
6 202-0002	11,335.00 C.Y.	Roadway Excavation, Earth	\$35.00		•	\$170,025.00	\$60.00	\$680,100.00	\$1.00	
7 202-0007	6,550.00 C.Y.	Stripping Topsoil	\$15.00		•	\$98,250.00	\$55.00	\$360,250.00	\$20.00	\$131,000.00
8 202-0009	60,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00		· ·	\$60,000.00	\$1.00	\$60,000.00	\$1.00	
9 203-0001 10 206-0003	11,360.00 C.Y. 9,190.00 C.Y.	Embankment, Common	\$25.00 \$1.00		•	\$227,200.00 \$91,900.00	\$50.00 \$60.00	\$568,000.00	\$35.00 \$1.00	
11 207-0004	120.00 C.Y.	Trench Excavation, Earth RipRap Stone Aprons, 12in Thick(D50=6in)	\$1.00 \$145.00		\$10.00 \$210.00	\$25,200.00	\$140.00	\$551,400.00 \$16,800.00	\$1.00 \$295.00	
12 207-0004	210.00 Ton	Riprap Stone Aprons, 12iii Thick(D50=0iii)	\$180.00		•	\$52,920.00	\$150.00	\$31,500.00	\$295.00 \$295.00	
13 207-0010	75.00 Ton	Riprap Stone Aprons, 36 in Thick, (D50=18 in)	\$150.00		•	\$18,750.00	\$200.00	\$15,000.00	\$295.00	
14 207-N0006	205.00 Ton	Riprap Stone Scour Hole, 12in Thick (D50-6in)	\$160.00			\$47,150.00	\$140.00	\$28,700.00	\$325.00	
15 207-N0008	95 Ton	Riprap Stone Scour Hole, 24in Thick (D50=12in)	\$165.00			\$25,175.00	\$150.00	\$14,250.00	\$325.00	
16 207-N0009	35.00 Ton	Riprap Stone Scour Holes, 36in Thick (D50=18in)	\$155.00		•	\$9,450.00	\$200.00	\$7,000.00	\$325.00	
17 208-0006	85 C.Y.	Hay Bales	\$175.00			\$8,500.00	\$250.00	\$21,250.00	\$30.00	
18 208-0007	20,155.00 L.F.	Silt Fence	\$10.00	\$201,550.00	\$10.00	\$201,550.00	\$5.00	\$100,775.00	\$12.00	\$241,860.00
19 208-0022	56.00 Each	Inlet Filter, Type 2	\$250.00	\$14,000.00	\$100.00	\$5,600.00	\$250.00	\$14,000.00	\$150.00	\$8,400.00
20 208-0024	3,850.00 Ton	Construction Driveway	\$70.00	\$269,500.00	\$82.00	\$315,700.00	\$135.00	\$519,750.00	\$85.00	\$327,250.00
21 208-N0001	1 Each	Concrete Washout Facility	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00
22 208-N0002	6 Each	Sediment Control Bags	\$2,000.00		\$200.00	\$1,200.00	\$500.00	\$3,000.00	\$500.00	
23 211-0001	8,285.00 L.F.	Temporary Orange Plastic Fence	\$10.00		· ·	\$41,425.00	\$5.00	\$41,425.00	\$8.00	
24 213-0002	16,145.00 Ton	Disposal of Regulated Material	\$35.00			\$726,525.00	\$50.00	\$807,250.00	\$35.00	
25 303-0001	235.00 S.Y.	Berm Surfacing, 3 Inches Thick	\$200.00			\$12,925.00	\$180.00	\$42,300.00	\$75.00	
26 401-0066	4,220.00 LB	Reinforcement Steel	\$5.00		· ·	\$21,100.00	\$2.50	\$10,550.00	\$5.50	
27 501-0001	750 L.F.	8-Inch Pipe Underdrain	\$45.00		•	\$112,500.00	\$100.00	\$75,000.00	\$1.00	•
28 502-0004	600 L.F.	18 Inch HDPE Pipe	\$95.00		•	\$135,000.00	\$120.00	\$72,000.00	\$175.00	
29 502-0005 30 502-0006	1,865.00 L.F. 905 L.F.	15 in Reinforced Concrete Pipe, Class III 18 in Reinforced Concrete Pipe, Class III	\$130.00 \$140.00			\$792,625.00 \$407,250.00	\$120.00 \$125.00	\$223,800.00 \$113,125.00	\$225.00 \$225.00	
31 502-0009	1,215.00 L.F.	15 Inch HDPE Pipe	\$80.00			\$273,375.00	\$123.00	\$113,123.00	\$223.00 \$170.00	\$206,550.00
32 502-0010	475.00 L.F.	24 in Reinforced Concrete Pipe, Class III	\$265.00			\$285,000.00	\$150.00	\$71,250.00	\$250.00	\$118,750.00
33 502-0012	225 L.F.	36 in Reinforced Concrete Pipe, Class III	\$200.00		•	\$73,125.00	\$200.00	\$45,000.00	\$300.00	
34 502-0013	15 L.F.	48 in Reinforced Concrete Pipe, Class III	\$300.00		•	\$8,250.00	\$700.00	\$10,500.00	\$500.00	
35 502-0018		15 Inch HDPE Flared End Section	\$1,000.00			\$7,500.00	\$1,000.00	\$5,000.00	\$2,500.00	\$12,500.00
36 502-0026	380.00 L.F.	24 Inch HDPE Pipe	\$110.00			\$95,000.00	\$140.00	\$53,200.00	\$200.00	\$76,000.00
37 502-0027	555.00 L.F.	30 Inch HDPE Pipe	\$200.00	\$111,000.00	\$300.00	\$166,500.00	\$145.00	\$80,475.00	\$250.00	\$138,750.00
38 502-0028	360 L.F.	42 In Reinforced Concrete Pipe, Class III	\$260.00	\$93,600.00	\$500.00	\$180,000.00	\$300.00	\$108,000.00	\$375.00	\$135,000.00
39 502-0033	180 L.F.	60 Inch HDPE Pipe	\$380.00	\$68,400.00	\$800.00	\$144,000.00	\$500.00	\$90,000.00	\$675.00	\$121,500.00
40 502-0034	280.00 L.F.	48 Inch HDPE Pipe	\$250.00	\$70,000.00	\$600.00	\$168,000.00	\$400.00	\$112,000.00	\$470.00	\$131,600.00
41 502-0035	225.00 L.F.	42 Inch HDPE Pipe	\$200.00	\$45,000.00	\$500.00	\$112,500.00	\$300.00	\$67,500.00	\$460.00	\$103,500.00
42 502-0036	85.00 L.F.	54 in Reinforced Concrete Pipe, Class III	\$430.00			\$56,100.00	\$750.00	\$63,750.00		
43 502-0037	45.00 L.F.	12 in Reinforced Concrete Pipe, Class III	\$100.00			\$9,000.00	\$250.00	\$11,250.00	\$225.00	
44 502-0038	190.00 L.F.	36 Inch HDPE Pipe	\$150.00			\$61,750.00	\$200.00	\$38,000.00	\$475.00	
45 502-N0007	325.00 C.Y.	Fill Abandoned Pipe	\$350.00			\$138,125.00	\$300.00	\$97,500.00	\$650.00	\$211,250.00
46 502-N0010	950 L.F.	24 Inch Cured In Place Pipe Liner	\$225.00			\$261,250.00	\$300.00	\$285,000.00	\$500.00	\$475,000.00
47 502-N0011	575 L.F.	30 Inch Cured In Place Pipe Liner	\$280.00			\$172,500.00	\$325.00	\$186,875.00	\$500.00	
48 502-N0013	105 L.F.	18 Inch Cured In Place Pipe Liner	\$210.00			\$31,500.00	\$310.00	\$32,550.00	\$500.00	\$52,500.00 \$80,000.00
49 502-N0014 50 502-N0015	160 L.F. 370 L.F.	21 Inch Cured In Place Pipe Liner 36 Inch Cured in Place Pipe Liner	\$210.00 \$315.00			\$48,000.00 \$129,500.00	\$300.00 \$400.00	\$48,000.00 \$148,000.00	\$500.00 \$500.00	
51 502-N0016	280.00 L.F.	30 Inch CCFRPM Slipliner	\$820.00			\$224,000.00	\$500.00	\$140,000.00	\$650.00 \$650.00	\$183,000.00
52 502-N0017	380 L.F.	36 inch CCFRPM Slipliner	\$1,000.00			\$323,000.00	\$650.00	\$140,000.00	· ·	\$182,000.00
53 502-N0017	235 L.F.	39 Inch CCFRPM Slipliner	\$1,000.00			\$199,750.00	\$650.00	\$152,750.00		\$176,250.00
54 502-N0019	305 L.F.	40 Inch CCFRPM Slipliner	\$1,000.00			\$259,250.00	\$650.00	\$198,250.00		\$244,000.00
55 502-N0022	220 L.F.	42 Inch CCFRPM Slipliner	\$1,100.00			\$198,000.00	\$675.00	\$148,500.00		\$187,000.00
56 502-N0029	690 L.F.	42 Inch X 29 Inch CCFRPM Slipliner	\$2,000.00			\$1,104,000.00	\$1,200.00	\$828,000.00	\$1,400.00	\$966,000.00
57 503-0003		Inlet, Type D2	\$7,500.00			\$117,000.00	\$8,000.00	\$104,000.00	\$8,000.00	\$104,000.00
58 503-0005	29.00 Each	• ••	\$2,500.00			\$203,000.00	\$3,000.00	\$87,000.00	\$3,000.00	
59 503-0006	4.00 Each	Manhole, Type P-2	\$15,000.00	\$60,000.00	\$15,000.00	\$60,000.00	\$15,000.00	\$60,000.00	\$20,000.00	\$80,000.00

	BaseLine Item Detail			A. Servidone, Inc. & B. Anthony Construction Corp., A Joint Venture		ruction Corp Inc.	JR Cruz Corp.		Roman E&G Corp.	
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
60 503-0023	5 Each	Reconstructed Inlet, Type D3, Using Existing Grate And Frame	\$2,500.00	\$12,500.00	\$5,000.00	\$25,000.00	\$3,000.00	\$15,000.00	\$3,000.00	\$15,000.00
61 503-0032	4 Each	Reconstructed Manhole, Type P-1, Using Existing Cover And Frame	\$2,500.00	\$10,000.00	\$6,000.00	\$24,000.00	\$3,000.00	\$12,000.00	\$6,000.00	\$24,000.00
62 503-0037	1 Each	Inlet, Type D2 Modified	\$12,000.00	\$12,000.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
63 503-0038	2 Each	Reconstruction Manhole, Type P-2, Using Existing Cover and Frame	\$2,500.00	\$5,000.00	\$8,000.00	\$16,000.00	\$4,250.00	\$8,500.00	\$15,000.00	\$30,000.00
64 503-0039	1 Each	Inlet, Type D2 SP-1	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
65 503-0040	1.00 Each	Inlet, Type D2 SP-2	\$30,000.00	\$30,000.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
66 503-0041	1.00 Each	Manhole, Type P2 SP-1	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00
67 504-0001	15 S.Y.	Concrete Gutter, 10 Inches Thick	\$1,200.00	\$18,000.00	\$400.00	\$6,000.00	\$550.00	\$8,250.00	\$950.00	\$14,250.00
68 504-0011	100.00 C.Y.	Incidental Concrete	\$1,600.00	\$160,000.00	\$1.00	\$100.00	\$2,000.00	\$200,000.00	\$15,000.00	\$1,500,000.00
69 505-0001	1,110.00 L.F.	Asphalt Concrete Lip Curb	\$20.00	\$22,200.00	\$32.00	\$35,520.00	\$15.00	\$16,650.00	\$50.00	\$55,500.00
70 510-0010	42 Each	Beam Guide Rail Blockout	\$20.00	\$840.00	\$10.00	\$420.00	\$10.00	\$420.00	\$125.00	\$5,250.00
71 510-0031	589 L.F.	Removal of Beam Guide Rail	\$20.00	\$11,780.00	\$1.00	\$589.00	\$6.00	\$3,534.00	\$1.00	\$589.00
72 510-N0080	250 L.F.	Beam Guide Rail, Pre-Stained	\$145.00	\$36,250.00	\$90.00	\$22,500.00	\$150.00	\$37,500.00	\$100.00	\$25,000.00
73 510-N0082	3.00 Each	Beam Guide Rail Anchorage, Pre-Stained	\$4,000.00	\$12,000.00	\$7,000.00	\$21,000.00	\$4,000.00	\$12,000.00	\$10,000.00	\$30,000.00
74 510-N0087	42.00 Each	Beam Guide Rail Post, Pre-stained	\$300.00	\$12,600.00	\$160.00	\$6,720.00	\$275.00	\$11,550.00	\$150.00	\$6,300.00
75 510-N0088	3.00 Each	Tangent Guide Rail Terminal, Pre-Stained	\$8,000.00	\$24,000.00	\$8,000.00	\$24,000.00	\$7,250.00	\$21,750.00	\$8,000.00	\$24,000.00
76 510-N0089	175.00 L.F.	Beam Guide Rail Element, Pre-Stained	\$100.00	\$17,500.00	\$40.00	\$7,000.00	\$70.00	\$12,250.00	\$60.00	\$10,500.00
77 510-N0091	15 Each	Beam Guide Rail Post, 9ft Long, Pre-Stained	\$300.00	\$4,500.00	\$275.00	\$4,125.00	\$275.00	\$4,125.00	\$300.00	\$4,500.00
78 517-0002	1 L.S.	Furnish Field Office, Type B	\$75,000.00	\$75,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$80,000.00	\$80,000.00
79 517-0008	12.00 Mnth	Maintain Field Office, Type B	\$10,000.00	\$120,000.00	\$2,500.00	\$30,000.00	\$5,000.00	\$60,000.00	\$8,500.00	\$102,000.00
80 517-0013	30,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00	\$1.00	\$30,000.00
81 522-0001	40 Each	Test Pits	\$2,000.00	\$80,000.00	\$580.00	\$23,200.00	\$1,000.00	\$40,000.00	\$1,000.00	\$40,000.00
82 523-0021	460 L.F.	Clean Existing Ditch	\$50.00	\$23,000.00	\$40.00	\$18,400.00	\$15.00	\$6,900.00	\$200.00	\$92,000.00
83 531-0001	15,000.00 USD	Force Account for Snow Removal (No-Bid)	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
84 532-0001	350,000.00 USD	Force Account for Emergency and Routine Roadway and Bridge Repairs (No-Bid)	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00	\$1.00	\$350,000.00
85 534-0004	205 L.F.	54 Inch Trenchless Installation	\$4,000.00	\$820,000.00	\$5,250.00	\$1,076,250.00	\$9,750.00	\$1,998,750.00	\$3,000.00	\$615,000.00
86 534-0005	190 L.F.	48 Inch Trenchless Installation	\$3,500.00	\$665,000.00	\$4,000.00	\$760,000.00	\$9,500.00	\$1,805,000.00	\$3,000.00	\$570,000.00
87 599-N0155	115.00 C.Y.	Gabion Wall	\$600.00	\$69,000.00	\$450.00	\$51,750.00	\$400.00	\$46,000.00	\$1,000.00	\$115,000.00
88 703-0001	46,510.00 S.Y.	Topsoil	\$5.00	\$232,550.00	\$4.25	\$197,667.50	\$10.00	\$465,100.00	\$4.50	\$209,295.00
89 704-0001	35,220.00 S.Y.	Seeding, Type A	\$2.00	\$70,440.00	\$1.50	\$52,830.00	\$2.00	\$70,440.00	\$3.00	\$105,660.00
90 704-0002	2,220.00 S.Y.	Seeding, Type B	\$2.00	\$4,440.00	\$1.50	\$3,330.00	\$2.00	\$4,440.00	\$2.00	\$4,440.00
91 704-0004	9,070.00 S.Y.	Seeding, Type L	\$3.00	\$27,210.00	\$2.00	\$18,140.00	\$2.00	\$18,140.00	\$2.50	\$22,675.00
92 705-0006	36 Each	Planting, Allegheny Serviceberry (Amelanchier Laevis)	\$600.00	\$21,600.00	\$550.00	\$19,800.00	\$600.00	\$21,600.00	\$1,000.00	\$36,000.00
93 705-0007	737 Each	Planting, Red Maple (Acer Rubrum)	\$65.00	\$47,905.00	\$65.00	\$47,905.00	\$75.00	\$55,275.00	\$250.00	\$184,250.00
94 705-0008	22 Each	Planting, Sweetgum (Liquidambar Styraciflua)	\$600.00	\$13,200.00	\$600.00	\$13,200.00	\$675.00	\$14,850.00	\$250.00	\$5,500.00
95 705-0009	2,279.00 Each	Planting, Tulip Tree (Liriodendron Tulipifera)	\$40.00	\$91,160.00	\$40.00	\$91,160.00	\$45.00	\$102,555.00	\$250.00	\$569,750.00
96 705-0010		Planting, Black Cherry (Prunus Serotina)	\$600.00		\$600.00	\$11,400.00	\$675.00	\$12,825.00	\$1,000.00	\$19,000.00
97 705-0022	1,200.00 Each	Planting, Northern Red Oak (Quercus Rubra)	\$35.00	\$42,000.00	\$35.00	\$42,000.00	\$40.00	\$48,000.00	\$250.00	\$300,000.00
98 705-0023	1,200.00 Each	Planting, Chestnut Oak (Quercus Montana)	\$30.00		\$25.00	\$30,000.00	\$35.00	\$42,000.00	\$250.00	\$300,000.00
99 705-0024	600 Each		\$30.00	\$18,000.00	\$25.00	\$15,000.00	\$35.00	\$21,000.00	\$250.00	\$150,000.00
100 705-0025	500 Each	Planting, Blackgum (Nyssa Sylvatica)	\$35.00	\$17,500.00	\$30.00	\$15,000.00	\$40.00	\$20,000.00	\$250.00	\$125,000.00
101 705-N0002	1 L.S.	Plant Establishment and Maintenance Period	\$30,000.00		\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	\$75,000.00	\$75,000.00
102 706-0001	9,070.00 S.Y.	Permanent Soil Stabilization Matting	\$10.00	\$90,700.00	\$5.00	\$45,350.00	\$6.00	\$54,420.00	\$4.00	\$36,280.00
103 706-0002	4,785.00 S.Y.	Temporary Soil Stabilization Matting	\$5.00	\$23,925.00	\$4.00	\$19,140.00	\$5.00	\$23,925.00	\$10.00	\$47,850.00
104 801-0001	1 L.S.	Furnishing Traffic Control Devices	\$3,110,000.00	\$3,110,000.00	\$1,903,408.50	\$1,903,408.50	\$500,000.00	\$500,000.00	\$1,000,000.00	\$1,000,000.00
105 801-0007	4,200.00 M.H.	Traffic Protection Patrol, Part-Time	\$25.00		\$150.00	\$630,000.00	\$140.00	\$588,000.00	\$135.00	\$567,000.00
106 801-0009	3 Each	Furnishing Portable Variable Message Sign	\$30,000.00	\$90,000.00	\$24,000.00	\$72,000.00	\$20,000.00	\$60,000.00	\$8,500.00	\$25,500.00
107 801-0013	6 Each	Furnishing Truck with Mounted Attenuator	\$60,000.00		\$50,000.00	\$300,000.00	\$40,000.00	\$240,000.00	\$25,000.00	\$150,000.00
108 801-0014	120 M.H.	Furnishing Truck with Mounted Attenuator for Engineer's Use	\$100.00		\$85.00	\$10,200.00	\$300.00	\$36,000.00	\$150.00	\$18,000.00
109 801-0015	4 Each	Repair Truck Mounted Impact Attenuators	\$10,000.00	\$40,000.00	\$12,000.00	\$48,000.00	\$3,000.00	\$12,000.00	\$1.00	\$4.00
110 801-0020	4 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$5,000.00	\$20,000.00	\$10,000.00	\$40,000.00	\$9,000.00	\$36,000.00	\$1.00	\$4.00
111 801-0023	2 Each	Repair and Reset Temporary Impact Attenuator (Cartridge)	\$6,000.00	\$12,000.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00
112 803-0032	25,000.00 USD	Police Traffic Directors (No-Bid)	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00
113 803-N0001	1 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$50,000.00	\$50,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$600,000.00	\$600,000.00
				\$15,783,665.00		\$16,575,000.00		\$16,849,765.20		\$17,708,747.00